Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:
6, 068 x 100 = 6, 861 x 100000 =
4,725 x 10000 = 8,024 x 100 =
6, 966 x 100000 = 6, 581 x 10000 =
8,37 x 100 = 3,669 x 10000 =
3,472 x 100000 = 6,33 x 100 =
2,757 x 10000 = 9,733 x 1000 =
8,452 x 1000000 = 1, 02 x 1000000 =
4,863 x 1000 = 8, 539 x 1000000 =
1,619 x 10000 = 5, 887 x 1000000 =
10,638 x 100 = 3,325 x 10 =

www.snowmath.com


https://www.snowmath.com

. S - | wigh
3/%%7 @ * Q Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:
6, 068 x 100 = 606.8 6, 861 x 100000 = 686100
4,725 x 10000 = 47250 8,024 x 100 = 802.4
6, 966 x 100000 = 696600 6, 581 x 10000 = 65810
8,37 x 100 = 837 3,669 x 10000 = 36690
3,472 x 100000 = 347200 6,33 x 100 = 633
2,757 x 10000 = 27570 9,733 x 1000 = 9733
8,452 x 1000000 = 8452000 1, 02 x 1000000 = 1020000
4,863 x 1000 = 4863 8, 539 x 1000000 = 8539000
1,619 x 10000 = 16190 5, 887 x 1000000 = 5887000
10,638 x 100 = 1063.8 3,325 x 10 =33.25
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